450

IMPORTANT NOTE:

[SOMETRIC

MIRACLE STEEL CORPORATION RECOMMENDS CONTACTING YOUR LOCAL BUILDING
OFFICIAL IMMEDIATELY TO DETERMINE APPROPRIATE PERMITTING LEAD TIMES

Dimension and configurations may have changed from

conception to completion. It is the bidder’s responsibility to
verify all dimensions and square footages PRIOR to bidding.

BUILDING WIDTH: 60°-6"
BUILDING LENGTH: 72’-2”"

NOMINAL EAVE HEIGHT: 18’-0”

TABLE OF CONTENTS

COVER PAGE

GENERAL NOTES/REVISIONS
BASE REACTIONS 1
BASE REACTIONS 2
FRAMING PLAN
ELEVATIONS

TRUSS "A”

TRUSS "B”

TRUSS ”C”

FRONT ENDWALL

REAR ENDWALL

FLOOR JOISTS

TRUSS DETAILS

BIFOLD FRAME DETAILS
ENDWALL DETAILS
FLOOR JOIST DETAILS
OVERHANG DETAILS
COLD-FORMED STEEL SHAPES
BIFOLD FRAME

BIFOLD CENTER STAYS
BASEPLATE DETAILS 1
BASEPLATE DETAILS 2
BRACING DETAILS
WOOD CLIP DETAILS

BIFOLD DOOR FRAME

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201

Copyright © 2002

=
==
<
—
wn
4]
o
2

2
Z.
Ne)
2 7. -
OB | H
)
Z .
Mo <
< = 2 A
e
A=
ERR s,
R
= -
3 o o
7
g
: |
2 B

DATE:

DRAWING NAME:
4271

18COVER

DRAWN BY:

C.D.

DATE:

4/21/05

SCALE:

N.T.S.

SHEET

S—1




GENERAL NOTES

Structure Type: Straightwall
Structure Designation 60—-18
Width 60 ft
Eave Height 18 ft
Length 72 ft
Building Area 4320 ft72
Bay Spacing 12 ft
Roof Pitch/12 4
Purlin Size 2x8 Purlin Spacing 2 ft
Girt Size 2x6 Girt Spacing 2 ft

DESIGN CODE
INTERNATIONAL BUILDING CODE 2003

DESIGN AND LOADING CRITERIA

Wind Criteria ASCE 7-02
Wind Velocity 90 mph
Exposure Category c Open Terrain
Snow Criteria ASCE 7-02
Ground Snow Load 10 psf
Snow Importance /1=1.0
Thermal Condition Normal
Seismic Criteria ASCE 7-02
Seismic Use Group 1
Seismic Importance /=1.0
Spectral response acceleration (0.2s) Sds = 0.281
Spectral response acceleration (1.0s) Sdl = 0.134
Basic Velocity Pressure 20 psf (0.00256*v*V)
Design Roof Live Load 30 psf
Design Roof Dead Load 15 psf Design Second Floor Live Load 50 psf
Design Wall Dead Load 10 psf Design Second Floor Dead Load 15 psf

CODE OF PRACTICE
METAL BUILDING MANUFACTURERS ASSOCIATION (MBMA)
Low Rise Building Systems Manual 1996
MATERIAL DATA

Structural Steel (Shapes) ASTM A529 50 ksi or equiv.

Structural Steel (misc plate) ASTM A36 or equiv.

Structural Tubing ASTM A500 46 ksi or equiv.

Rods and flats ASTM A529 50 ksi or equiv.

Light Gauge Steel ASTM A653 Grade B up to .048
ASTM A570 Grade 50 over .048 thickness

Bolts 5/8" diameter thru 7/8" diameter ASTM A325 or equivalent
1/2 diameter ASTM A490 or equivalent
3/8" diameter ASTM A449 or equivalent

Lumber (By Customer)  Girts WWPA Visually Graded Douglas—Fir—Larch (#2) or equivalent
Purlins  WWPA Visually Graded Douglas—Fir—Larch (#2) or equivalent
Lumber sizing based on actual loading requirements

Sheeting Shingle Roof and Wood siding by owner

Miracle Steel Corporation is a recognized IAS Fabricator per Fabricator Inspection Program FA-359

DESIGN NOTES:

1. Design of steel members per the appropriate sections of the AISC and AlIS| design manuals

2. All trusses and endwall columns must be laterally braced as indicated on the drawings.

3. The lateral stability of the trusses and columns has been assumed

to be provided by the attached sheeting and siding materials.

4. The foundation is the responsibility of the customer and shall be designed

to meet local soil conditions and to support the design vertical and lateral forces.

5. Tighten ASTM A325 bolts using the turn of the nut method (tighten 1/3 turn past snug tight)
6. The lateral displacement of the building under Wind Load limited to h/120.

7. Use temporary bracing during erection to ensure framework stability until all components installed
8. See Assembly Guide for erection procedures, requirements and recommendations.

REVISIONS

Dimension and configurations may have
changed from conception to completion. It
is the bidder’s responsibility to verify all
dimensions and square footages PRIOR to

bidding.

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright © 2002

.....

AR RN
tx‘ﬁ e,

coeoan

LY

vvvv
0 )
0 ¥

Z. n
(@) Z.
¢p) o
N 7 0
SE |5
Z - ~

=
<33 >
= RN (€
Q;l\ ~
Z - | O
<@ A
N ]

B =
3 I %
g N =
g A Z.
s = F
13 <
[REVISION: DATE:

DRAWING NAME:
427118GN-R

DRAWN BY:

C.D.

DATE:

4/21/05

SCALE:

N.T.S.

SHEET

S—2




Truss Reactions (kips) unfactored
Dead Load| Live Load | Wind Load | Bracing
Max. Vertical 8.22 11.27 n/a n/a
Max. V (uplift) n/a n/a 6.4 9.10
Max. Shear 2.30 4.41 3.65 2.92

\//
/

b
=

AVAVAVAVAVAVAYAN

1 KD AN NANANADNAAN SN AN SN AR N AN

Truss Reactions (kips) unfactored
Dead Load | Live Load | Wind Load | Bracing
Max. Vertical 13.44 28.67 n/a n/a
Max. V (uplift) n/a n/a 6.40 9.10
Max. Shear 0.66 2.62 2.13 2.92

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright © 2002

STAMP:

TRUSS "A” TRUSS "B”

Dimension and configurations may have changed
from conception to completion. It is the bidder’s

responsibility to verify all dimensions and square
footages PRIOR to bidding.

SHELBYVILLE, TN
427118
BASE REACTIONS 1

=
sl TED & SANDRA NICKSON

Zl| cusTOMER:

DATE:

DRAWING NAME:
427118BR1

DRAWN BY:

DATE:

TRUSS "C”




(o
NG
) = | =
- Sy
- T~
—3 4 Sy
_— N I A S Y, "‘
L
n
|
i
Front Reactions (kips) unfactored
Dead lLoad| Live Load | Wind Load
Max. Vertical 6.08 6.40 n/a
Max. V (uplift) n/a n/a 4.34
Max. Shear 0.2 0.2 5.50

FRONT ENDWALL

Max. Endwall Reactions (kips) unfactored
Dead lLoad | Live Load | Wind Load | Bracing
Max. Vertical 6.43 9.76 n/a n/a
Max. V (uplift) n/a n/a 1.74 2.67
Max. Shear n/a n/a 2.48 1.38

REAR ENDWALL

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright © 2002

STAMP:

Dimension and configurations may have changed
from conception to completion. It is the bidder’s
responsibility to verify all dimensions and square

footages PRIOR to bidding.

TED & SANDRA NICKSON
SHELBYVILLE, TN
427118
BASE REACTIONS 2

REVISION: DATE:

DRAWING NAME:
427118BR2

DRAWN BY:

DATE:

SCALE:

1/8” =
SHEET | S—




Dimension and configurations may have changed from
conception to completion. It is the bidder’s

responsibility to verify all dimensions and square
footages PRIOR to bidding.



MIRACLE STEEL
FLUSH BRACING CORPORATION

600 Oakwood Road
Watertown, SD 57201

— 58'-0" x 14'—-0" BIFOLD DOOR Copyright © 2002

Z
S
FRONTWALL ELEVATION SIDEWALL 1 ELEVATION ¢
Dimension and configurations may have changed from SE |,
e
. o . . b) . o7 o
5 conception to completion. It is the bidder’s responsibility to o, 12 _o overeens ooor z s - %
ENDWALL BRACING . . . . FRAMED BY OWNER —
15 verify all dimensions and square footages PRIOR to bidding. =Rl =
; | | | 2R S
",l\ ! | I ! | < m ¢ m
5 N —
= | I AN N | | | | ! = =
™ 25
\: /\/\\\ | ! ,/\’\<:/ AN VRN / & A
Rl A i ___________ i ___________ Lozl T ] S (R A Ir ____________ ' \\\ /// ! \\\ /// ! ! E a
A T A T ST U i 2 B
\\\V// ! } ’ TN /// © ' ' /:":\ ! /:X:\ ! ! REVISION DATE:
/// \\\ | | I | /// \\\ N | | /// \\\\ | /// \\\\ | |
€ ~ | | L \ k W’ y
_g” [DRAWING NAME: _
606" 0O/0 OF WOOD (TP 72'=2" 0/0 OF WOOD 427118EL
DRAWN BY:
63'-6" 0/0 OF WOOD 75=2" 0/0 OF WOOD C.D.
DATE: 4/21,/05
REARWALL ELEVATION SIDEWALL 2 ELEVATION SCALE:

3/32” - 1!—0!’

SHEET | -6



Dimension and configurations may have changed from
conception to completion. It is the bidder’s responsibility
to verify all dimensions and square footages PRIOR to

bidding.

1.1/2” x 1 1/2” x 14 GA TUBE
— WELDED BETWEEN TOP & OUTSIDE CHORDS
(TYP)

« A *
SR 6
}ﬁ O e
* (TYP)
<

(@)

- 107

59'-7" 0/0 OF TRUSS

ITEM

FRAME SIZE

|25 INCH

—_

2 x 6 WOODEN GIRT BY OWNER (2-0" 0.C.)

2 x 8 WOODEN PURLIN BY OWNER (2—0" 0.C.)

LEFT LEG OUTER CHORD SIZE

2 x 2 x 3/16 DOUBLE ANGLES

LEFT LEG INNER CHORD SIZE

2 1/2 x 1/4 DOUBLE ANGLES

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201

Copyright © 2002

RIGHT LEG OUTER CHORD SIZE

3/16 DOUBLE ANGLES

RIGHT LEG INNER CHORD SIZE

2 1/2 x 1/4 DOUBLE ANGLES

LEFT ROOF TOP CHORD SIZE

1/4 DOUBLE ANGLES

LEFT ROOF BOTTOM CHORD SIZE

1/4 DOUBLE ANGLES

[CoR o R RNE o)) K6 0 I KON | N ]

RIGHT ROOF TOP CHORD SIZE

1/4 DOUBLE ANGLES

RIGHT ROOF BOTTOM CHORD SIZE

NIININININININ
x

1/4 DOUBLE ANGLES

—_—| -
ot O

x Ix [x > [x[x|[x]|x|x

1 1/8 ANGLE

ROOF VERTICAL SIZE
=11/2 x 1 1/2 x 14 GA

SQ DIAGONAL

u\-%a ,"E.,F."”é’i

SQ DIAGONAL

1
=21/2 x 1 1/2 x 11 GA
1

SQ DIAGONAL £

X

X
=11/2x11/2 x 11 GA
1 1/2 x 1 1/2 x 14 GA
T+ (21 1/2 x 1 1/2 x

SQ DIAGONAL
3/16 ANGLES

* i

LOCATION OF 1 x 1 x 1/8 ANGLE STRAP @ APPROX 45 EACH
SIDE TO PURLINS OR GIRTS

= 2

ot
--------

25'-3 5/16”

9'—11 3/16"

28'-1 3/8”

16'=0 1/2”
H
17'-6 3/8"
17°-6 1/2”

2
pd c@)
() —
S |
O -
— O
%3
<3 3™
ENE
N -
'z, ; Q| <t
<< Mm|-
22 o
3 ﬁ dp)
: a DD:
S
: =
REVISION DATE:
DRAWING NAME:
427118TR1
DRAWN BY:
C.D.
DATE:
4/21/05
SCALE:

3/16” - 1’_0”

SHEET | S—"7




C10-14 GA
LEDGER

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright (©) 2002

8%

ITEM |TRUSS FRAME SIZE |25 INCH ITEM |FLOOR TRUSS FRAME SIZE 36 INCH
1 2 x 6 WOODEN GIRT BY OWNER (2’0" 0.C.) 10 |TRUSS TOP CHORD SIZE 6 x 6 x 3/8 SQ TUBE
2 2 x 8 WOODEN PURLIN BY OWNER (2'-0" 0.C.) 11 |TRUSS BOTTOM CHORD SIZE W12 x 30#
3 LEFT LEG COLUMN SIZE W10 x 334 12 |TRUSS VERTICAL SIZE W6 x 15#
4 RIGHT LEG COLUMN SIZE W10 x 33# — = 2 x 4 x 14 GA SQ DIAGONAL
5 LEFT ROOF TOP CHORD SIZE 2 x 2 x 1/4 DOUBLE ANGLES —— = 2 x 4 x 3/16 SQ DIAGONAL
6 LEFT ROOF BOTTOM CHORD SIZE 2 x 2 x 1/4 DOUBLE ANGLES
7 RIGHT ROOF TOP CHORD SIZE 2 x 2 x 1/4 DOUBLE ANGLES < 1 1 1
8 RIGHT ROOF BOTTOM CHORD SIZE 2 x 2 x 1/4 DOUBLE ANGLES DlmenSIOn and Conflguratlons may
9 ROOF VERTICAL SIZE 1 x 1 x 1/8 ANGLE . ~
i T T O SO BAsoA have changed from conception to B
—A— =2 1/2 x 1 1/2 x 11 GA SQ DIAGONAL . . . > =
—— = 1 1/2 x 1 1/2 x 11 GA SQ DIAGONAL COmplethn. It is the bldder S -
_ 1T 1/2 x 1 1/2 x 14 GA SQ DIAGONAL R . . . -
—— "+ () 11/2°x 1 1/2 x 3/16 ANGLES responsibility to verify all dimensions =
_ LOCATION OF 1 x 1 x 1/8 ANGLE STRAP @ APPROX 45 EACH
= SIDE TO PURLINS OR GIKTS and square footages PRIOR to
bidding.
3 s "’\"\V / - @ i
;'/’ * © 7 N\ e,
® Ty C < <+\
~  TOP OF FLOOR JOISTS * T_J :
_ N 1 o
| M
~ ~ . - ~
| s @]
N - 1 s
S-16 © | N oo
S O—h SR
— o~ A A
- = N
— | r‘:)
ﬁj ,
K

o L e

----------

59'-7" 0/0 OF TRUSS

2
pd v®)
o i
“a
=)
S e
%
<3
g =
h -
Z, ; o | A
<<Mm |-
-
7p)
3 o dp
g oA -
A >
S m
5 B o
REVISION: DATE:
DRAWING NAME:
427118TR2
DRAWN BY:
C.D.
DATE:
4/21/05
'SCALE:

3/16” = 1!_0!’

SHEET | S—§8




o

. . . . ITEM | FRAME SIZE |25 INCH MIRACLE STEEL
Dimension and configurations may have changed from T 12 x 6 WOODEN GRT 57 OWNER (Z=5"0..) CORPORATION
] . i ) , 1 o1 2 |2 x 8 WOODEN PURLIN BY OWNER (2—=0” 0.C.) 600 Oakwood Road
conception to completion. It is the bidder’s responsibility [~5{ierr es ourer chors s7e — [3% 7+ 3775 5oUSE ANGLES Wotertown, $D 57201
. . . 4 |LEFT LEG INNER CHORD SIZE 2 1/2 x 2 1/2 x 1/4 DOUBLE ANGLES e o
to Verlfy all dlmensmns and square footages PRIOR to 5 |RIGHT LEG OUTER CHORD SIZE 2 x 2 x 3/16 DOUBLE ANGLES
6 |RIGHT LEG INNER CHORD SIZE 2 1/2 x 2 1/2 x 1/4 DOUBLE ANGLES
blddmg. 7 _|LEFT ROOF TOP CHORD SIZE 2 x 2 x 1/4 DOUBLE ANGLES
8 |LEFT ROOF BOTTOM CHORD SIZE |2 x 2 x 1/4 DOUBLE ANGLES
9 |RIGHT ROOF TOP CHORD SIZE 2 x 2 x _1/4 DOUBLE ANGLES
10 |RIGHT ROOF BOTTOM CHORD SIZE |2 x 2 x 1/4 DOUBLE ANGLES )
11_|ROOF VERTICAL SIZE 1 x 1 x 1/8 ANGLE n
—— = 1.1/2 x 1 1/2 x 14 GA SQ DIAGONAL -
—A— = 2 1/2 x 1 1/2 x 11 GA SQ DIAGONAL o
—— = 11/2 x 1 1/2 x 11 GA SQ DIAGONAL y
____ _11/2x 1 1/2 x 14 GA SQ DIAGONAL
—— " 4+ (2) 1 1/2 x 1 1/2 x 3/16 ANGLES
& = LOCATION OF 1 x 1 x 1/8 ANGLE STRAP ® APPROX 45 EACH
~ SIDE TO PURLINS OR GIRTS
1 1/2” x 1 1/2” x 14 GA TUBE - ~
— WELDED BETWEEN TOP & OUTSIDE CHORDS - - 'z 0
(TYP) ) N @) —
7 _ ~ 2 © &J Z |
2 - >~ > O = -
- * e » N - E N ©
- > ~ o < E QO |
L x - * ~ i
_— . . \ QQ_)‘ ﬂ - | .
- ‘ - hadl E
ai‘]! 3 8 S 70 ¥ - “ Z, ; || ©
| 4" x 1/4" PLATE = © <@ ¥
! WELDED TO BOTTOM CHORDS TOP OF FLOOR JOISTS | > N
C10-14 GA _ | (TYP) [ - = 0p)
LEDGER T\~~~ L E‘ — R 3 N
N gl I < w .
& P o < T a 2 -
© . W10 x 124 i W = o
L X LEDGER L = I 2 —~
I — ! (l, p © °
. 4 ~ K 7 REVISION: | DATE:
~ - 0~ o~
> -
a RS @ k) !
| | | M
N —
' [DRAWING NAME:
- B 427118TR3
L J DRAWN BY: C.D
DATE:
. 4/21/05
59'=7" 0/0 OF TRUSS 3/16” = 1’-0
SHEET | S—9




B
S—14
2 x 8 PURLINS
(2’-0" 0.C.) =
BY OWNER - -
- S A
i - N
C S—14 ) N "
S—17 - - :l
. -~ @
[ S [ N7 [ 74 I~ 7 I \\74 [ N Fﬂ i :
| SEE PAGE S-19 i X
1 FOR BIFOLD FRAME MEMBER SIZES i -
|
y /7 L
2 x 6 GIRTS gﬂ N
(2’-0" 0.C.) | g >
BY OWNER : : L? c|>
] W10 x 334 TN @
BIFOLD LEG h
= =
| |
= - -
-1y - I
—

59'-7" 0/0 OF COLUMNS

Dimension and configurations may have changed from conception to completion. It is the
bidder’s responsibility to verify all dimensions and square footages PRIOR to bidding.

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright © 2002

SRR NN
s"‘“ o d

,,,,,,,,,

--------

STAMP:

427118
FRONT ENDWALL

SHELBYVILLE, TN

=
gl TED & SANDRA NICKSON

Zl| cusToMER:

DATE:

DRAWING NAME:
427118FE

DRAWN BY:
C.D.

DATE:
4/21/05

SCALE:

3/16” = 1’'-0"

SHEET

S—10




Dimension and configurations may have changed from
conception to completion. It is the bidder’s responsibility to
verify all dimensions and square footages PRIOR to bidding.

59'-7" 0/0 OF COLUMNS

ITEM DESCRIPTION Q1Y || MIRACLE STEEL
1 |2 x 6 WOODEN GIRT BY OWNER (2°=0” 0.C.) N/A CORPORATION
2 12 x 8 WOODEN PURLIN BY OWNER (2°-0" 0.C.) N/A 600 Oakwood Road
3 |[W10 x 12# COLUMN x 17'—=6 1/2” LONG 2 Wﬂterfﬁ;‘gfwfm‘
4 W10 x 15# COLUMN x 21'—5" LONG 2 .

5 |[W10 x 194 COLUMN x 25'—5” LONG 2

6 | C8—12 GA RAFTER x 31'-3 7/8” LONG 2 YT
7 |C10—14 GA LEDGER x 11°=3 9/16” LONG 1 b Y
8 |W10 x 19# LEDGER BEAM x 11'—=8” LONG 3 e

9 |W10 x 19# LEDGER BEAM x 11°—=3 9/16” LONG 13

10 _[2" x 14 GA WINDBRACE x 14’=0" LONG 4 IV =
11 _|2” x 14 GA WINDBRACE x 18'—0" LONG 4 - z
ALL WIND BRACES MUST BE TRIMMED TO LENGTH = 3
& DRILLED BY OWNER PRIOR TO INSTALLATION - "

® = W-COLUMN ENDWALL STABILIZER | 28

¢
-
© 7
> Z
7 7
o M Z -
O B~ -
Z. =
i M o =
2 < "j - =
i s pf =i Z
T - ; gl e
o Z >
Tl 587
o N N
52 =
. 3 o -
+ N O © .. (d)) Q2
~ >~ &
— =~ O~ § (=]
o o 7 S K=
| ~| 0N B
Lele B
[REVISION: DATE:
[DRAWING NAME:
427118RE
DRAWN BY: C.D
DATE:
4/21/05
[SCALE:

3/16!! - 1)_0”

SHEET | S—-11




FLOOR JOIST "A”

FRAME SIZE

14 INCH

SINGLE DIAGONAL

—_

JOIST TOP CHORD SIZE

1 1/2 x 1 1/2 x 3/16 DOUBLE ANGLES

= DOUBLE DIAGONAL

N

JOIST BOTTOM CHORD SIZE

11/2 x 1. 1/2 x 3/16 DOUBLE ANGLES

S | DIAGONAL SIZE

5/8 DIA ROD

*

_ LOCATION OF 1 x 1 x 1/8 ANGLE ~ FIELD WELDED TO JOIST

~ BOTTOM CHORDS USING E7018 LH ELECTRODES OR EQUIVALENT

2'-0"
’* (TYP)

24'-2"

|

— 1'=2"

1
- 9 |

RVAVAVAVAVAVAN,

®

22,—8”

AVAVAVAVAY/

I gn | .

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201

Copyright © 2002

%

SR EE NN
vt et

FLOOR JOIST "B”

FRAME SIZE

14 INCH

SINGLE DIAGONAL

—_

JOIST TOP CHORD SIZE

1 1/2 x 1 1/2 x 3/16 DOUBLE ANGLES

= DOUBLE DIAGONAL

2 |JOIST BOTTOM CHORD SIZE

1 1/2 x 1 1/2 x 3/16 DOUBLE ANGLES

S | DIAGONAL SIZE

5/8 DIA ROD

*

_ LOCATION OF 1 x 1 x 1/8 ANGLE — FIELD WELDED TO JOIST

~ BOTTOM CHORDS USING E7018 LH ELECTRODES OR EQUIVALENT

2'—0"
l‘_ (TYP) ‘1

18'=11 1/2”

L

. 11_2)7 -

1'—1 3/4”

®

16'-8"

A\VAVAVAVAVAVAVAVAVS

1'—1 3/4”

FLOOR JOIST ”C”

FRAME SIZE

14 INCH

SINGLE DIAGONAL

1 |JOIST TOP CHORD SIZE

11/2 x 1 1/2 x 3/16 DOUBLE ANGLES

= DOUBLE DIAGONAL

2 |JOIST BOTTOM CHORD SIZE

1 1/2 x 1 1/2 x 3/16 DOUBLE ANGLES

*

_ LOCATION OF 1 x 1 x 1/8 ANGLE — FIELD WELDED TO JOIST

®

12'-8"

- .&/\/\/\/\/\/\/

3 | DIAGONAL SIZE 5/8 DIA ROD ~ BOTTOM CHORDS USING E7018 LH ELECTRODES OR EQUIVALENT
13'-9 1/27 . . . .
o / Dimension and configurations
“_ (TYP) _" may have changed from

conception to completion. It is

the bidder’s responsibility to

verify all dimensions and square

footages PRIOR to bidding.

- 6 3/4”

2
Z
o
2
N
A -
Z o 2
<=2 O
B
=] ; I~
ARSIV (e
<@QIF| O
N O
= —
3 & =
& N
g A
S [
2 B
[REVISION: DATE:
[DRAWING NAME:
427118J0
DRAWN BY:
C.D.
DATE:
4/21/05
SCALE:
1/2” = 1’-0”

SHEET | S—-12




Dimension and configurations may have changed from conception to completion. It is the bidder’s responsibility to verify all dimensions and square footages PRIOR

t(!) bidding. 2 x 8 PURLIN 2 x 8 PURLIN ASTM AS25 MIRACLE STEEL
2 x 8 PURLIN 3/4” x 2" BOLTS CORPORATION
ASTM A325 (8) 600 Oakwood Road
3/4” x 2" BOLTS Watertown, SD 57201
ASTM A325 (8) / Copyright © 2002
3/4" x 2" BOLTS ] SLREREN
(8) % f b S wile,
5 i} , e L ;(
E | B
W10 x 33# -
TRUSS LEG -
2 x 6 2 x 6 4
GIRT "\ GIRT "\
I N i i o
i \ 1 = £ s
N ety > . 5
T | 3" x 3" x 3/8" %
CONNECTION 'ANGLES
3" x 3" x 3/8” 2 1/2" x 2 1/2” x 3/8"
A EAVE CONNECTION ANGLES B EAVE - CON(JECTION Al\/lGLEg 4 C PEAK b(g z 2!
CONNECTION CONNECTION CONNECTION O B —
Z - <
N #10 WOOD GRIP SCREWS <« E @ E
(2 PER SIDE) g =~ —
, / PURLIN OR GIRT a E ; =
GIRT CLIP TRUSS LEG GIRT CLIP AN Sggf‘ <zt: aa) Ci}"l %
) N -3
%x . 5] -
: Y/ T | &
=
ANCHOR ROD ANCHOR ROD & E
) % 6 ) BY OWNER ©
GIRT —\ / (4) 2 GlR? \ / (4) REVISION: DATE:
P Y N i - _ﬂlaﬁ/ -
>< W R
:ﬁ_:_fj M_.",'I; H.«.,_‘ oy H=a H] {l’: ’ TRUSS (TYPL)E [DRAWING NAME:
e R 427118TD
R S I I 3/8" x 3/a BOLT [ CD.
s e, L L PR UA GUV ) (TYP) DATE:
S . ST e 4/21/05
D TRUSS LEG D TRUSS LEG i STABILIZER EE s oo
CONNECTION CONNECTION CONNECTION SHEET |S—19




MIRACLE STEEL
TOP CHORD CORPORATION
2 x 8 PURLIN Watamtomm 95 57901
CENTER CHORD Copyright © 2002
/ (TOP FRAME)
BOTTOM CHORD
(TOP FRAME) \
= = ﬁi//)" k\\\i:rgd
l i N
5/8" x 1 3/4” B(%LS) | ii \ / /20 x 1 B&LS) i BOTTOM FRAME
\E DA | CONNECTION CHANNEL
2 x 6 GIRT I | R
\ :: | =
== ii W10 x 33 E
! BIFOLD LEﬁ { g 2
]
A) EAVE B TOP/BOTTOM FRAME Sz | &
CONNECTION Dimension and CONNECTION S e 2]
: ; Z - /M
j configurations : M
f I < ﬂ - | =
GIRT CLIP i may have | g' E = E}
ii ) W10 x 33# BIFOLD HEADER i 1/2" x 1" BOLTS Z N\
% : BIFOLD LEG changed from ( | (TYP) ;ﬂ) E <+ ET-::
| conception to ' =
;; . . 1/ I | S
;; completion. It is 45 i o7 |9
I ANCHOR BOLT . I = —
2 x 6 GIRT | ey omver  the bidder’s | & B =
;: /(4) ' g & -
T | responsibilityto | 1 N REVISION: —[DATE:
q><f—1::v S re i verify all / J\
=S Bl S . . o
T g dimensions and BOTTOM CHORD 3/4" x 27 BOLTS
R IR ) (TYP) [DRAWING NAME:
RSN square footages 427118FED
R S DRAWN BV
et PRIOR to DATE: —
T | 4/21/05
(" BIFOLD LEG bidding. 73, BOTTOM FRAME L o
CONNECTION CONNECTION SHEET J_S—14




2 x 8
PURLIN

C8—12 GA RAFTER

2 x 8
PURLIN

C8—12 GA RAFTER

2 x 8 PURLIN

C8—12 GA RAFTER

CORNER COLUMN

FLAT STRAP

2” x 14 GA =

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201

Copyright © 2002

<

£
LT PR
w o
i,

j [~ ANGLES
/_ﬂ‘{ir_ __EE__ ot PEAK PLATE
! I [~ ENDWALL b "
| B N . )"
l COLUMN ” 1/2" x 17 BOLTS %
| I\ 1/2” x 17 BOLTS (TYP) B
N 2 T/sz”) x 1”7 BOLTS b (TYP) -
o
0
A EAVE B COLUMN C PEAK D WIND BRACE a > —
CONNECTION CONNECTION CONNECTION CONNECTION Q E<—G4
. . “ o || =
Dimension and 3 g ol
W10 x 124 " et e ] configurations may have | 285
GIRT CLIP ~—— ENDWALL GIRT CLIP W10 x 194 <@ |
COLUMN -~ ENDWALL W10 x 194 _ changed from n - =
COLUMN ENDWALL COLUMN . 2 E =
e sy conception to | ad =
o completion. It is the = R
ANCHOR ROD . D) 1 o1 2
iRt \ B %N)Cgvcv)ﬁESOD 2 1.8 \ B OWNer \ bidder’s responsibility to ;;VISZ: __|
‘_ El Al N )V 4 AN verify all dimensions
G E PR D ‘Xa‘? B L and square footages
=l T o 2 x 6 GRT PRIOR to bidding. DRAVING NNE —
ool RARETE DN ) DRAWN BY:
& S o C.D.
e PR 21 /05
D CORNER T COLUMN G STABILIZER EE 2 oo
CONNECTION CONNECTION CONNECTION SHEET | S—15




C10-14 GA LEDGER —\\\\\\i

1.1/2” x 1 1/4” BOLTS

A

ASTM A325
3/4" x 2" BOLTS

(4)

W10 x 334
TRUSS LEG

=

TOP OF

{ FLOOR JOISTS

R
s

ASTM A325

x‘rﬂw
N
2 1/4”

3/4" x 2" BoLTS — |
(4)
==

FLOOR TRUSS

CONNECTION

W10 x 19#
ENDWALL COLUMN

TOP OF _
FLOOR JOISTS

—_—]

W10 x 194
LEDGER BEAM

MIRACLE STEEL
CORPORATION

600 Oakwoad Road
Watertown, SD 57201
Copyright © 2002

| vo o/

1/4" PLATE

(WELDED TO ENDWALL COLUMN)

ASTM A325
5/8" x 1 3/4” BOLTS
(4)

B

LEDGER BEAM

CONNECTION

Dimension and configurations may have changed from conception to completion.
[t is the bidder’s responsibility to verify all dimensions and square footages PRIOR
to bidding.

C

WELD BOTH ANGLES
USING E-7018 LH

I 25 "\ ELECTRODES

- OR EQUIVALENT

N
) \\ / \ / \
r—Ea nszn V4
[@NIN =7
|
Lo
2 W10 x 194

ENDWALL LEDGER BEAM FLOOR JOIST

FLOOR JOIST

CONNECTION

WELD BOTH ANGLES
USING E-7018 LH
ELECTRODES

OR EQUIVALENT

.25

3:_01)

/\/\/

D

FLOOR JOBT

FLOOR JOIST

CONNECTION

FLOOR TRUSS

—‘ — 2 1/4"
|

11'=11 15/16”
TO FLOOR

g‘ TED & SANDRA NICKSON

2l cusToMER:

SHELBYVILLE, TN

427118
FLOOR JOIST DETAILS

DATE:

[DRAWING NAME:

427118JD

DRAWN BY:

C.D.

DATE:

4/21/05

SCALE:

1”

- 1’—0”

SHEET

S—16 |



nfigurations may have changed from conception to completion. It is the bidder’s

responsibility to verify all dimensions and square foo

1/2” x 3" BOLT

3/8" PLATE (WELDED TO WALL TUBE)
1" x 5/32" WALL TUBE

$5/8” THREADED ROD
11/2” x 1 1/2” x 3/16” ANGLE =7/
1/2” x 1" BOLTS ==

2 x 8 EAVE PURLIN A
(BEVEL cuT) )
=><] /
C5-12 GA |
OVERHANG TROUGH
-~ 18" —
z- ]

A TRUSS OVERHANG
CONNECTION

tages PRIOR to bidding.

1/2” x 2" BOLT

3/8" PLATE (WELDED TO WALL TUBE)
1" x 5/32" WALL TUBE

#5/8”" THREADED ROD
11/2” x 1 1/2” x 3/16” ANGLE
1/2” x 1" BOLTS

2 x 8 EAVE PURLIN
(BEVEL CUT)

=><
C5—12 GA _/////

OVERHANG TROUGH |

18” i

B TRUSS OVERHANG
CONNECTION

==

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201

Copyright © 2002

AEAREENY
AN ° %,:_‘ Sz ¢

AF
&

AL LI

%\'5 g« av:m-‘,, Y1,

STAMP:

1/2” x 2" BOLT

3/8" PLATE (WELDED TO WALL TUBE)
1" x 5/32" WALL TUBE

$5/8” THREADED ROD I
11/2” x 1 1/2” x 3/16” ANGLE
1/2” x 1”7 BOLTS

2 x 8 EAVE PURLIN e N 1l
(BEVEL CUT) i Sl B
=>=< |
k1) I

C5-12 GA___/////

OVERHANG TROUGH

18 [ 1
==

C BIFOLD OVERHANG
CONNECTION

1/2” x 2" BOLT

3/8" PLATE (WELDED TO WALL TUBE)
1" x 5/32" WALL TUBE

#5,/8” THREADED ROD
11/2" x 1 1/2" x 3/16” ANGLE
1/2” x 1" BOLTS

2 x 8 EAVE PURLIN
(BEVEL CUT) o

=
C5-12 GA _J/////

OVERHANG TROUGH |

18

D ENDWALL OVERHANG
CONNECTION

427118

& SANDRA NICKSON
OVERHANG DETAILS

SHELBYVILLE, TN

TED

®| cuSTOMER:

VISION: DATE:

DRAWING NAME:
4271180HD

DRAWN BY:

C.D.

DATE:
4/21/05

SCALE: , .
3/4” = 1'-0

SHEET [S—1"7




MIRACLE STEEL
CORPORATION
600 Oakwood Road
%D Watertown, SD 57201
k Copyright (©) 2002
)
. * i -
: ° #
0 — l l
| SRR f
R ! 5" |—
R 3”  — .LD . 311 “(O
™~ ~
I} N
C8-12 GA RAFTER C10—-14 GA LEDGER C5—12 GA OVERHANG TROUGH

STAMP:

Dimension and configurations may have changed from conception to completion. It is the
bidder’s responsibility to verify all dimensions and square footages PRIOR to bidding.

427118
COLD-FORMED STEEL SHAPES

SHELBYVILLE, TN

S
5l TED & SANDRA NICKSON

21| cusTOMER:

DATE:

[DRAWING NAME:
427118CFSS

DRAWN BY:

DATE:

SCALE: ,
1 t4

SHEET |S—18




Dimension and configurations may have changed from conception to completion. It is the bidder’s

responsibility to verify all dimensions and square footages PRIOR to bidding.

C3 x 3.5
DOUBLE TOP CHORD

4" x 2" x 14 GA t
DIAGONALS
(TYP) w0
~
M)
N
<
C4—12 GA
BOTTOM CHORD
63 1/2" | 63 1/2" | 63 1/2" | 63 1/2"
254 1/8”"
TOP FRAME
_C4 x 4.5# 03 x 3.5
CONNECTION CHANNEL DOUBLE TOP CHORD
127 1/16" 4" x 27 x 14 GA
VERTICALS & DIAGONALS
(TYPICAL UNLESS NOTED)
C3 x 3.5
- DOUBLE TOP CHORD
c5 x 3/16"
0 BIFOLD HEADER
< [~ » I
r;) 3 x 3 x 14 GA
DIAGONAL
<
[@)]
C4 x 4.54
12 GA 1 — CONNECTION
GUSSET CHANNEL
I NN i N S i DN 0l \ T
N4 N\~ NI=
C5 x 6.74 <
BOTTOM CHORD -
" " " I " 32 m
63 1/2 62 1/2 l 62 1/2 62 1/2 : 62 1/2 35 3/8 - -
349"

BOTTOM FRAME
(RIGHT HALF)

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright © 2002

g
Z.

o

Sz |
N b=
M|
<= o =
o e R
Z258| 9
<m<| =
PR o
ST | =

& n -

g AR

e

5 b

[REVISION: DATE:

DRAWING NAME:
427118BFP

DRAWN BY:

DATE:

SCALE:




NOTE:

NOTE:

THE CENTER STAY BRACE CONSISTS OF TWO ANGLES
CONNECTED TO THE CENTER STAY TAB AND UP TO A
DOUBLED ROOF PURLIN.

DOUBLE PURLIN
1—— PURLIN

— CENTER STAY PURLIN CLIP
~ (2) 1/2” CARRIAGE BOLTS

/ FASCIA

MIRACLE STEEL
CORPORATION

600 Oagkwood Road
Watertown, SD 57201

Copyright (©) 2002

sl
} -

BOLT ONE END OF THE CENTER STAY BRACE TO [° [ _Jji>> 16D NALS
THE CENTER STAY TAB. CONNECT THE OTHER END
OF THE STAY BRACE TO THE DOUBLE ROOF PURLIN
USING THE CENTER STAY PURLIN CLIP FOR THE CONNECTION, l J i ;é‘t; %"é'li[ﬂ[i% HEAD
2'-0" — 5/8” BOLT SR ;
e m «,
BE SURE TO EXTEND DOUBLE PURLIN 2'—0" PAST THE ‘:% -
FIRST TRUSS FOR A STRONG CONNECTION. ENDWALL GIRTS E
BIFOLD CENTER STAYS - FASTENED TO E
J - BIFOLD FRAME ~,
TRUSS 5/8” BOLT BIFOLD HEADER
SCALE: 3/4” = 1’0"
==z u W u 7 7 u 74 u ~=— |
ol = = X = = -
| |
™ [
| |
N * INDICATES LOCATION OF BIFOLD CENTER STAYS n
1| Dimension and configurations may have changed from conception to i
1| completion. It is the bidder’s responsibility to verify all dimensions and square |
| |
footages PRIOR to bidding.

SCALE: 3/16” = 1’-0Q”

%
% 7p
P 2

-

éé B N
1 o
4%& ]
e E
I
<@ O
B |a
3 &I —

PR 75 o

ia |E

EIRE

REVISION: DATE:

DRAWING NAME:

427118BS
DRAWN BY:
C.D.
DATE:
4/21/05
SCALE:

SEE DRAWING

SHEET

S—20




TRUSS "A” & "C” LEG BASEPIATE

/ 7/8" DIA HOLES (4) 1/2" —= |
L_ﬂ h_a{ |
( |
:f 3
S L 4 11/2" - |~
- 10 1/2”

OUTSIDE OF BUILDING

7/8" DIA HOLES (4)

/ 1/2" THK

g &
S \_ J
s )
<& O
:f
> -— 3 4
- 10 1/2"
OQUTSIDE OF BUILDING
W10 x 33#
TRUSS "B” LEG BASEPLATE

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright (©) 2002

R
’E».‘g\w;‘:;@
e %

STAMP:

OUTSIDE OF BUILDING

DOOR OPENING

7/8" DIA HOLES (4)

1/2" THK
| /

9 1/2”

NK@/@

/
0 4 ™

&

o

2 1/2” 5"

10"

OUTSIDE OF BUILDING

W10 x 334

BIFOLD LEG BASEPLATE

Dimension aj
configuration

changed from conception

to completior]
bidder’s respd
verify all dim;
square footag

to bidding.

nd

s may have

. It is the
ynsibility to
ensions and
es PRIOR

7/8" DIA HOLES (2)

1/2" THK
| {g/ /
, \ J
7 ™
D &
f
—{ 2 4
}
W8 x 244
FLOOR COLUMN BASEPLATE

427118

& SANDRA NICKSON
BASEPLATE DETAILS 1

SHELBYVILLE, TN

TED

REVISION: DATE:

DRAWING NAME:
427118BPL1

DRAWN BY:

C.D.

DATE:
4/21/05

SCALE:

3" = 1'-0"
SHEET IS—21




:Q 7/8" DIA HOLES (2)
- 1/2" THK
| / /
<> - )
O N 4 h
Li i — 27 4"
é 10 1/2"
° OUTSIDE OF BUILDING
W10 x 12#
ENDWALL CORNER COLUMN

BASEPLATE

7/8” DIA HOLES (2)

/ 1/2” THK

-
=~

/l\
.

— 27: 4n

10 1/2”

OUTSIDE OF BUILDING

W10 x 15# & W10 x 194#
ENDWALL COLUMN BASEPLATE

MIRACLE STEEL
CORPORATION

600 Oakwood Road
Watertown, SD 57201
Copyright (© 2002

S Ty
i’ - Lf’}%
Pragpgund

Dimension and configurations may have
changed from conception to completion. It is the
bidder’s responsibility to verify all dimensions
and square footages PRIOR to bidding.

%
Z 2
2 "
N Z ﬁ
S <
Z - —

Mo | K
e E=
253

il €S
Z AV,
<@+ S
= <<

= o,
3 I

p . =

5 M N

3 <

e =

5 B an)

REVISION: DATE:

DRAWING NAME:
427118BPL2

DRAWN BY:

DATE:




Dimension and configurations may have changed from conception to completion. It is the bidder’s
responsibility to verify all dimensions and square footages PRIOR to bidding.



Dimension and configurations may have changed from conception to completion. It is the bidder’s responsibility to

vérify all dimensjons and square footages PRIOR to Bidding. o s MIRACLE STEEL
(BY OWNER) (BY OWNER) C(g(gl:)okRA;l‘ﬁOl:I
Wotertowon,wgg 57%%1
— = == e
d—\Qo 0————\'__\,__.§— mo ° M Ve
W’o OW N ¥ °M§ N
WQOQOD CLIP /j r WOOD CLIP éz
#10 WOOD GRIP SCREWS -
(4 PER SlDE) #10 WOOD GRIP SCREWS & o
A (4 PER SIDE) : Ay
V' ___%: jii'““‘,;“‘
ENDWALL COLUMN/RAFTER TRUSS %:
; w0
gis —T
< —
|
GIRT/CLIP CONNECTION PURLIN/CLIP CONNECTION % E g
Z . || &=
<32~
_ _ - a
HoaA—5—=51% AoR5—=514% SRE |
E i 3 —
o ° o - N 5 o
WOOD CLIP . o<———WOOD CLIP - % E Q
______ ° - __________________4______ | / o n -
_______________________________ j r XN s a g
=
REVISION: DATE:
ENDWALL COLUMN/RAFTER TRUSS
L e G 1 1BWCD
J ]\_ﬂ DRAWN BY:
c.D.
ATE
4/21/05
‘ SCALE: 3" = 1'—0”
CLIP/ENDWALL CONNECTION CLIP/TRUSS CONNECTION — Y




. : : : TEM [58—14 BIFOLD DOOR FRAME
Dimension and configurations may have changed from !4 5-1t, BIFOLD DOOR FRAME e MIRACLE STEEL
: . . . > 1o:1: 2 _|TOP FRAME — BOTTOM CHORD SIZE |3 x 3 x 14 GA TUBE 500 Ockwond Rood
conception to completion. It is the bidder’s responsibility to |5 sorom rrawe — Top cHoro size 5 3 12 ca TuBE Wetorionn '35 57301
: : ) C 1. 4 |BOTTOM FRAME — BOTTOM CHORD SIZE |3 x 3 x 14 GA TUBE copregns © sons
verify all dimensions and square footages PRIOR to bidding. [5[outer vermca size 5 3 x 3/16 TUBE
6 |INNER VERTICAL SIZE 1 1/2 x 3 x 14 GA TUBE
7 |HORIZONTAL CHORD SIZE 1 1/2 x 1 1/2 x 14 GA TUBE \\\\‘”“é’éu
T
58'-5" d
29'-2 1/2" 29'~2 1/2" _:
4-21/2" 5'—0" —~f=— 5'-0" —~f+— 5'-0" —~]=— 5'-0" 5'-0" 5-0" —=f— 5'-0" —~f=— 5'-0" —~|=— 5'-0" 5'-0" 4-21/2" E"
v—10 174" |V N — f
= T B
é 2'-1 1/2" -—(5) -—(6) -—(6) -—(6) -—(6) -—(6) (&) O O (&) &)+ O
= L? T @ &
N w21 1/2” E
S - ‘-@ 'E"“—® 2
2'-3 3/4"
N / Z €2
| T | g |2
FRAME SPLICE M Z <
O o
| Z - "
&= 1'-7 3/4" [/ N —© f = co)
= l - -® o| 2325
o 2’1 1/2" \ /\ /‘\ /\ /\ / bt ¥
S 1 5 % ; lgz O
T . ' -
§ w 2-1 1/2__ <_@& <—@/ <—@\ <—@/ ‘—@\ A—@/E) 5\@5}—> /@» \@——» /@—-» \@_; /@_}@ % E ﬂ‘
=~ , . = =
5 o LN N4 N/ N/ A \/ =
) \ = o8 |S
FRAME SPLICE - CENTER PIN L2 x P /214 G 2 a —
: B -
FRAME SPLICE REVISION: | DATE:
MIDDLE i
STRUT T Z T 47 4% %8 S SE S S S
1 1/2 x 1.1/2 x 14 GA | 14 GA PLATE o
TUBE (WELDED BETWEEN CHORDS) — L
DRAWING NAME:
FRAME SPLICE 427118BFD
BOTTOM x . . . \i/ . . . x # DRAWN BY: & D,
(B) STRUT N1 — 11— 1 ——F% [—— 1 _—1 — 1 _— 11 ? —
L ! 4/21/05
~ [SCALE: " , "
]ruééz x 1. 1/2 x 14 GA L\NEJE x 1/8 - 3/16 = 1'-0
SHEET |S—25

Ty I






